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You have a friend who lost 15 pounds of fat on a diet. Where did the fat go?

A. It was released as CO2 and H2O.

B. It was converted to heat and then released.

C. It was converted to ATP, which weighs less than fat.

D. It was broken down into amino acids and eliminated from the body.

E. It was converted to urine and eliminated from the body.
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2.   A large tree, like a large redwood tree that started out from a seed and now is 100 feet tall, gets the stuff necessary for its growth (the atoms and molecules making up most of its mass) from nutrients in the soil.


Which of the choices do you think is the most correct answer? Do you think that more than one of the answers may be partially correct?  Describe your thinking.  Provide an explanation for your answer.  
























































f the choices do you agree with?  Describe your thinking.  Provide an explanation for your answer.  


reate a whiteboard explain





After the discussion, has your thinking changed?  What parts of your thinking were reinforced by the discussion?  What parts of your thinking changed?  
































Please consider the statement above.  You might agree, disagree, or be somewhat in between.  Write a response explaining your thinking about the concept. Please limit your technical vocabulary.  If you need to use scientific terms be sure to explain what your mean.  







































































After the discussion, has your thinking changed?  What parts of your thinking were reinforced by the discussion?  What parts of your thinking changed?  



































